CONFIDENTIAL

KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

ORIGINAL

Form ACO-1 September 1999 Form Must Be Typed

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

Operator: License # 33476	API No. 15 - 171-20626-0000
Name: FIML Natural Resources, LLC	County: Scott
Address: 410 17th St. Suite 900	<u>CSW_NW_Sec. 29Twp. 18SR. 31</u> East
City/State/Zip: Denver, CO 80202	· — —
11C 3 0 COV	
Purchaser: NCRA Operator Contact Person: Phyllis Sobotik CONFIDENT	Footages Calculated from Nearest Outside Section Corner:
Phone: (303) 899-5608	(circle one) NE SE NW \$\$\text{\$W}
Contractor: Name: Excell Services, Inc.	Lease Name: Morrison Well #: 5-29-1831
License: 8273	Field Name: To be determined
Wellsite Geologist:	Producing Formation: Mississippian Spergen
Designate Type of Completion:	Elevation: Ground: 2970' Kelly Bushing: 2982'
New Well Re-Entry Workover	Total Depth: 4758' Plug Back Total Depth: 4686'
✓ Oil SWD Temp. Abd.	Amount of Surface Pipe Set and Cemented at 8 jts 8 5/8" @ 358 Feet
Gas ENHR SIGW	Multiple Stage Cementing Collar Used? ✓ Yes ☐ No
Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth set 2968'
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from 2968' (DV Tool)
Operator: NA	feet depth to Surface w/ 505 sx cmt.
Well Name:	
Original Comp. Date: Original Total Depth:	Drilling Fluid Management Plan (Data must be collected from the Reserve Pit)
Deepening Re-perf Conv. to Enhr./SWD	Chloride content 1500 ppm Fluid volume 900 bbls
Plug BackPlug Back Total Depth	Dewatering method used Evaporation and backfill
Commingled Docket No	
Dual Completion Docket No	Location of fluid disposal if hauled offsite:
Other (SWD or Enhr.?) Docket No	Operator Name:
	Lease Name: License No.:
6/09/06 6/21/06 7/14/06 Spud Date or Date Reached TD Completion Date or	Quarter Sec TwpS. R 🗌 East 🗌 West
Recompletion Date Recompletion Date	County: Docket No.:
INSTRUCTIONS: An original and two copies of this form shall be filed with Kansas 67202, within 120 days of the spud date, recompletion, workove Information of side two of this form will be held confidential for a period of 1 107 for confidentiality in excess of 12 months). One copy of all wireline logs TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged wells.	r or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. 2 months if requested in writing and submitted with the form (see rule 82-3-and geologist well report shall be attached with this form. ALL CEMENTING
All requirements of the statutes, rules and regulations promulgated to regula herein are complete and correct to the best of my knowledge.	te the oil and gas industry have been fully complied with and the statements
Signature: Myllu Sobotio	KCC Office Use ONLY
// 7/	Letter of Confidentiality Attached
7. L	If Denied, Yes Date:
Subscribed and sworn to before me thisday of	Wireline Log Received
19 2006	Geologist Report Received RECEIVED
Notary Public: Flame Winch	a 18 IIIC Distribution
Date Commission Expires: 5/5/2009	SEP 0 1 2006
The state of the s	KCC WICHITA
Z. (%) **o.,	TOTAL STATE OF THE

Side Two

CONFIDENTIAL

_ & &				CONTI			0.4024
perator Name: FIM			Lease Name:_			_ Well #: _ 3-2	9-1031
sted, time tool open mperature, fluid reco	ow important tops a and closed, flowing overy, and flow rate	East ✓ West and base of formations pe g and shut-in pressures, v is if gas to surface test, al final geological well site re	whether shut-in pro ong with final cha	Il cores. Report a	tatic level, hydr	ostatic pressure	es, bottom hole
rill Stem Tests Taken (Attach Additional S		☐ Yes ✓ No	[✓ L	.og Formatio	n (Top), Depth	and Datum	Sample
amples Sent to Geol	logical Survey	☐ Yes 🗹 No	Nam	ne		Тор	Datum
ores Taken		✓ Yes No	Тор	eka		3610'	-628'
ectric Log Run (Submit Copy)		✓ Yes ☐ No	Tord			3894'	-912'
st All E. Logs Run:			LKC	;		3928'	-946'
HRI/GR/SP			Mai	maton		4332'	-1350'
Den/Neutron/GR Microlog			Mis	sissippian		4544'	-1562'
		CASING Report all strings set-o	RECORD Nonductor, surface, in		ion, etc.		10.7
Purpose of String	Size Hole Drilled	Size Casing Set (In O.D.)	Weight Lbs. / Ft.	Setting Depth	Type of Cement	# Sacks Used	Type and Percent Additives
Surface	12-1/4"	8-5/8"	24#	358'	Class A	225	2% gel, 3% CaCl2
Production	7-7/8"	5-1/2"	15.5#	4736'	ASC	300	2% gel, 10% salt
				2968 (DV)	light	505	5pps Gilsonite, .5 Flocel
	· · · · · · · · · · · · · · · · · · ·	ADDITIONAL	CEMENTING / SC	UEEZE RECORD	·		
Purpose: Perforate Protect Casing	Depth Top Bottom	Type of Cement	#Sacks Used	Type and Percent Additives			
Plug Off Zone							
						10	
Shots Per Foot		TION RECORD - Bridge Plug y Footage of Each Interval Pe			cture, Shot, Ceme mount and Kind of I		Depth
4	4591' - 4594'			A/ 250 gal 15%	6 MCA, 1000 ga	ls 15% INS	4591-94'
TUBING RECORD 2-	Size 7/8"	Set At 4666'	Packer At	Liner Run	Yes ✓ N	lo	
Date of First, Resumed	d Production, SWD or	Enhr. Producing Met	hod Flow	ing 🕢 Pumpi	ng 🔲 Gas	Lift 🗌 Ot	her <i>(Explain)</i>
Estimated Production Per 24 Hours	0il 64	Bbls. Gas	Mcf Wa	ater E	Ibls.	Gas-Oil Ratio	Gravity
Disposition of Gas		COMPLETION		Production Inte	rval		
Vented Sold	Used on Lease	Open Hole	Perf.	Dually Comp.	Commingled	4591'-4594	

Allied Cementing Co., Inc. P.O. Box 31

Russell, KS 67665

Invoice Number

Invoice Date: 06/25/06

Sold FIML Natural Resources

To: L.L.C.

410 17th St. #900

Denver, CO 80202

KCC AUG 3 0 2006 CONFIDENTIAL

Cust I.D....: FIML

P.O. Number..: Morrison #5-29-/83/

P.O. Date...: 06/25/06

Due Date.: 07/25/06 Terms...: Net 30

Item I.D./Desc.	Qty. Used	Unit	Price	Net	TX
Common	225.00	SKS	12.2000	2745.00	${f T}$
Gel	4.00	SKS	16.6500	66.60	T
Chloride	8.00	SKS	46.6000	372.80	T
Handling	237.00	SKS	1.9000	450.30	E
Mileage	60.00	MILE	18.9600	1137.60	E
237 sks @>08 pe	er sk per mi			•	
Surface	1.00	JOB	815.0000	815.00	E
Extra Footage	57.00	PER	0.6500	37.05	E
Mileage pmp trk	60.00	MILE	5.0000	300.00	E
Head Rental	1.00	PER	100.0000	100.00	E
Guide Shoe	1.00	EACH	235.0000	235.00	T
Centralziers	3.00	EACH	55.0000	165.00	Т
Surface Plug	1.00	EACH	60.0000	60.00	T
** *					

All Prices Are Net, Payable 30 Days Following Date of Invoice. 1 1/2% Charged Thereafter. If Account CURRENT take Discount of \$ 648.43 ONLY if paid within 30 days from Invoice Date

Subtotal: Tax...: Payments: Total...:

6484.35 229.59 0.00 6713.94

RECEIVED SEP 0 1 2006 **KCC WICHITA**

ALLIED CEMENTING CO., INC. 24470

Federal Tax I.D. REMIT TO P.O. BOX 31 SERVICE POINT: RUSSELL, KANSAS 67665 DAKZEY AUG 3 0 2006 ON LOCATION LOCATION Scott CITY OLD OR NEW (Circle one) **CONTRACTOR** OWNER TYPE OF JOB 362 **HOLE SIZE CEMENT CASING SIZE DEPTH** AMOUNT ORDERED **TUBING SIZE DEPTH** 2255Ks com 36cc 296681 DRILL PIPE **DEPTH** <u>TOOL</u> **DEPTH** PRES. MAX **MINIMUM** COMMON MEAS. LINE **POZMIX** CEMENT DEET IN CSG **GEL** PERFS. **CHLORIDE** ASC_ **EQUIPMENT** RECEIVED CEMENTER TERR **PUMP TRUCK** HELPER SEP 0 1 2006 KCC WICHITA **BULK TRUCK** DRIVER HANDLING **REMARKS:** TOTAL 4772 CEMENT SERVICE **DEPTH OF JOB** PUMP TRUCK CHARGE EXTRA FOOTAGE ____57 60 MI @ 5 00 MANIFOLD THANK YOU CHARGE TO: ___FIML TOTAL /252 STREET _STATE_ PLUG & FLOAT EQUIPMENT To Allied Cementing Co., Inc. @ You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was TOTAL done to satisfaction and supervision of owner agent or contractor. I have read & understand the "TERMS AND TAX_ CONDITIONS" listed on the reverse side. TOTAL CHARGE -— IF PAID IN 30 DAYS

Allied Cementing Co., Inc P.O. Box 31

Russell, KS 67665

INVOICE

Invoice Number

102880

Invoice Date:

06/25/06

KCC

AUG 3 0 2006

CONFIDENTIAL

Sold FIML Natural Resources

To: L.L.C.

410 17th St. #900

Denver, CO

80202

Cust I.D....: FIML

P.O. Number..: Morrison #5-29-/83/

P.O. Date...: 06/25/06

Due Date.: 07/25/06 Terms....: Net 30

Item I.D./Desc.	Qty. Used	Unit	Price	Net	TX
Gel	6.00	SKS	16.6500	99.90	Т
ASC	300.00	SKS	14.2000	4260.00	T
Salt	16.00	SKS	19.2000	307.20	T
WFR-2	500.00	GAL	1.0000	500.00	${f T}$
Handling	339.00	SKS	1.9000	644.10	E
Mileage	60.00	MILE	27.1200	1627.20	E
339 sks @.08 pe	r sk per mi				
Bottom Stage	1.00	JOB	1750.0000	1750.00	E
Mileage pmp trk	60.00	MILE	5.0000	300.00	E
Head Rental	1.00	PER	100.0000	100.00	E
Guide Shoe	1.00	EACH	160.0000	160.00	T
Float Collar	1.00	EACH	265.0000	265.00	${f T}$
Centralizers	20.00	ACH	. 50.0000	1000.00	T
Basket	1.00	EACH	150.0000	150.00	\mathbf{T}
Limit Clamp	1.00	EACH	20.0000	20.00	T
DV Tool	1.00	EACH	3500.0000	3500.00	T

All Prices Are Net, Payable 30 Days Following Date of Invoice. 1 1/2% Charged Thereafter. If Account CURRENT take Discount of \$ /468.34 ONLY if paid within 30 days from Invoice Date

Subtotal: Tax...: Payments: 14683.40 646.51

Total...:

0.00

15329.91

RECEIVED

SEP 0 1 2006

KCC WICHITA

ALLIED CEMENTING CO., INC. 24659

REMIT TO P.O. BOX 31

AUG 3 0 2006

SERVICE POINT: **RUSSELL, KANSAS 67665** CONFIDENTIAL Oakley RANGE CALLED OUT **ON LOCATION** JOB START JOB FINISH 7:15-PM 8:00 PM Morrisou COUNTY SCOTT LOCATION SCOTT CITY 8B OLD OR NEW (Circle one) BXCell Drla Ri Two Stage (BOTT CONTRACTOR **OWNER** TYPE OF JOB \$7.34.02 **HOLE SIZE CEMENT CASING SIZE** DEPTH 4734.02 AMOUNT ORDERED **TUBING SIZE** DEPTH 3005Ks ASC, 2966 109 S9H DRILL PIPE **DEPTH** TOOL 7001 **DEPTH** PRES. MAX **MINIMUM COMMON** MEAS. LINE SHOE JOINT 4/107 **POZMIX** @ CEMENT LEFT IN CSG. GEL PERFS. **CHLORIDE** DISPLACEMENT 40 Bbls Water + 7/34Bbls Mul ASC_*300.5K*5 EQUIPMENT TOTAL 111 94 Blos <u>cw7@17.20</u> **PUMP TRUCK** CEMENTER Dean 500 gals #373-28-1 HELPER Andrew Max @ 1.00 BULK TRUCK 399 DRIVER BULK TRUCK 339 sKs **HANDLING** @ 1.90 MILEAGE 84 1627,20 **REMARKS:** TOTAL 7438.40 SERVICE Disp 40 Bbls Water + 71 did not Land. RIOAT DEPTH OF JOB open DV Tool 97 9004, Circulate PUMP TRUCK CHARGE 1750.00 EXTRA FOOTAGE @ MILEAGE 60 Miles @ 5,00 MANIFOLD _ Hega Rental CHARGE TO: FIML TOTAL 2/50.00 STREET STATE PLUG & FLOAT EQUIPMENT RECEIVED SEP 0 1 2006 Flogi Collar KCC WICHITA @ *50.00* entrolizers To Allied Cementing Co., Inc. @ imit clamp You are hereby requested to rent cementing equipment @ and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or TOTAL 5095.00 contractor. I have read & understand the "TERMS AND CONDITIONS" listed on the reverse side. TOTAL CHARGE __ DISCOUNT -— IF PAID IN 30 DAYS

PRINTED NAME

Allied Cementing Co., Inc P.O. Box 31

Russell, KS 67665 JUN 29 2006

NVOICE

Invoice Number

102881

Invoice Date 06/25/06

KCC

AUG 3 0 2006

CONFIDENTIAL

Sold FIML Natural Resources To: L.L.C.

410 17th St. #900

Denver, CO

80202

Cust I.D....: FIML

P.O. Number..: Morrison #5-29-/83/

P.O. Date....: 06/25/06

Due Date.: 07/25/06 Terms....: Net 30

Item I.D./Desc.	Qty. Used	•	Unit	Price	Net	TX
Lite	525.00		SKS	10.7500	5643.75	Т
Gilsonite	2625.00		LBS	0.7000	1837.50	\mathbf{T}
FloSeal	268.00		LBS	2.0000	536.00	T
Handling	614.00		SKS	1.9000	1166.60	E
Mileage	60.00		MILE	49.1200	2947.20	E
614 sks @>08 per	sk per mi					
Top Stage	1.00		JOB	955.0000	955.00	E

All Prices Are Net, Payable 30 Days Following Date of Invoice. 1 1/2% Charged Thereafter. Subtotal: 13086.05 Tax...: 505.08 If Account CURRENT take Discount of \$ /308.60 Payments: 0.00 ONLY if paid within 30 days from Invoice Date Total . . . : 13591.13

1308.60

8200-118 Adam De Bl 2Nd Stage

RECEIVED SEP 0 1 2006 KCC WICHITA

ALLIED CEMENTING CO., INC. 24660 Federal Tax 1.D.# KCC SERVICE POINT:

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665

Ooklev

			AUG	U ZUUD			7
6-20-06 DATE	SEC.	TWP.	RANGE CONFID	CALLED DUT	ON LOCATION 3:45 PM	JOB START	JOB FINISH
Morrison LEASE	WELL#	- 5			/	COUNTY SC OTT	STATE
OLD OR KEW C			LOCATION SCOTA	Cityot	125 45	3001	125
CONTRACTOR	Rycall	Λ:-/.	PS 3	OWNED	504.4		
TYPE OF JOB 7	12x Cell	Urig ,	Top stage)	OWNER	Same		·····
HOLE SIZE	778	T.D.		CEMENT			
CASING SIZE	5/2	DEF		AMOUNT OR	DEDED		
TUBING SIZE		DEF			Lite 59Gm	10 - 1 To 10 -	7 EL 8-
DRILL PIPE		DEI		UNU OKS	AIR O CHI	some 12	16569
TOOL DU-7	7001	DEF					
PRES. MAX			IIMUM	COMMON		@	
MEAS. LINE			E JOINT	POZMIX			
CEMENT LEFT IN	CSG.			GEL			
PERFS.				CHLORIDE			,
DISPLACEMENT	70.5	9 861	5	AŞC			
	EQU	IPMENT		Lite 5	525 sks		5643,75
PUMP TRUCK (CEMENTE	D /)6	29n	Gilsonite	26259	_@	1837,5
- ·	HELPER	- T	ev			@	
BULK TRUCK	ILLI LK	PIRA		Plo Segl	268-4	@ 2100	536,00
— •	ORIVER	Rox	Mike			@	
BULK TRUCK	2117 1211	-1 VE7	<i>,,,,</i>			_ @	
A	ORIVER	Rex			1 666	_ @	
				HANDLING	6145KS	@ 1.20	1166-60
<i>h</i>	DEL	t a Table		MILEAGE 🖇	4/sk/mil		2947.20
ν .		IARKS:				TOTAL	12 131.05
~1 - 1	Hole	W/15	5K5.				
May Mous		le w	10sks		SERVI	C E	
Mis 500 St		/	Critsonte,				
			Csq. wash	DEPTH OF JO	в2	966'	
	e, Dis	p Plu		PUMP TRUCK	CHARGE		955.00
LOOL Clos	. /	2/ W	1800 A.	EXTRA FOOT	AGE	@	
Cemant d	id Cil	culat	<u>e</u>	MILEAGE@	BO Miles	@	Ne
				MANIFOLD			
		•	Thank you			@	
		•				@	
CHARGE TO:	FIM	<u>L</u>					
STREET			.4			TOTAL	855,00
CITY	STA	ΓE	ZIP	·			
CITY			RECEIVED	P	LUG & FLOAT	EQUIPMEN	ſ
			SEP 0_1 2938			. @	
		1	KCC WICHITA			@	
To Allied Cementi:	ng Co., In	c. '	A A I O I II IV I			.@	
You are hereby req	uested to	rent ceme	enting equipment			@	
and furnish cemen	ter and hel	per to ass	sist owner or			@	
contractor to do we				and the second	olim https://www.ministra.com/		en en en en legen de la company
done to satisfaction	and supe	rvision of	f owner agent or	·		TOTAL	
contractor. I have							
CONDITIONS" lis				TAX			
				тотаї сцаро	GE		
		, [
	1 /1/	' [10 -	DISCOUNT -		IF PAID	IN 30 DAYS
/		. \	11/		·	٠	
SIGNATURE //	1/10	er/()	100				
					PRINTEI	D NAME	
		,					